ARITMETICAS Y LOGICAS

Mnemonic Operands Description Flags
ADD, ADDS {Rd,} Rn,<0p2> Add Rd = Rn + Operand2 N,Z,C,V
ADD, ADDS {Rd,} Rn, #imm12 Add Rd = Rn +imm12, imm12 range 0-4095
SUB, SUBS {Rd,} Rn,<0p2> Subtract Rd = Rn — Operand2 N,Z,C,V
ACCESO A MEMORIA SUB, SUBS {Rd,} Rn,#imm12  [subtract Rd = Rn - imm12, imm12 range 0-4095 NZ,CV
RSB, RSBS {Rd,} Rn,<0p2> Reverse Subtract Rd = Operand2 —Rn N,Z,C,V
RSB, RSBS {Rd,} Rn, #imm12 Reverse Subtract Rd=imm12—Rn N,Z,C,V
Mnemonic Operands Description Flags CMP Rn, <Op2> Compare Update PSR flags on Rn — Operand2 N,Z,CV
LDR {H,SH,B,SB} Rd, [Rn] Load Register with data Rd = [Rn] - CMN Rn, <Op2> Compare Negative Update PSR flags on Rn + Operand2 N,Z,CV
LDR {H,SH,B,SB} Rd, [Rn,#offset] Load Register with data Rd = [Rn+off] - MUL, MULS {Rd,} Rn,Rm Multiply, 32-bit result Rd=Rn * Rm N,Z
Rd = [Rn] MLA Rd, Rn,Rm, Ra Multiply with Accumulate, 32-bit result Rd =Ra + (Rn * Rm) N,Z
LDR {H,SH,B,SB} |Rd, [Rn] #offset Load Register with data and increment Rn =Rn +off - MLS Rd, Rn,Rm, Ra Multiply and Subtract, 32-bit result Rd =Ra—(Rn * Rm) =
Rn=Rn+off | (Rd=[Rn+off]) uDIiv {Rd,} Rn,Rm Unsigned Divide Rd=Rn/Rm -
LDR {H,SH,B,SB} Rd, [Rn,#offset]! Load Register with data and increment Rd = [Rn] | (Rn=Rn+off ) - SDIV: {Rd,}Rn,Rm Signed Rd=Rn/Rm =
ww” MH .ww._.w.ms ”w,_ﬁu_éuwv_ %Mwmﬂmm_wﬁh_mﬁ%s M_:_ uﬁ:ﬂ H0p2>] - AND, ANDS {Rd,} Rn,<0p2> Logical AND Rd = Rn & Operand2 N,Z,C
- - a ORR, ORRS {Rd,} Rn,<0p2> Logical OR Rd =Rn | Operand2 N,Z,C
STR {H,B} Rt, [Rn,Hoffset] Store Register data [Rn+off] = Rt - ORN, ORNS {Rd,} Rn,<Op2> Logical OR NOT Rd=Rn | (~ Operand2) N,Z,C
STR {H.B} Rt, [Rn,<0p2>] Store Register data [Rn+<0p2>] =Rt = EOR, EORS {Rd,} Rn,<0p2> Exclusive OR Rd = Rn A Operand2 N,Z,C
PUSH {Rt1,Rt2,...} |reglist Push registers onto stack = BIC, BICS {Rd,} Rn,<Op2> Bit Clear Rd = Rn & (~ Operand2) N,Z,C
POP {Rt1,Rt2,...} [reglist Pop registers from stack - Rd =Rm <<Rs
ADR Rd, label Set Rd equal to the address at label Rd = <label> (Rd no SP ni PC) - LSL, LSLS Rd, Rm,Rs Logical Shift Left (Same as MOV{S} Rd, Rm, LSL Rs) N,Z,C
MOV, MOVS Rd, <Op2> Set Rd equal to Op2 Rd = Operand2 N,Z,C Rd=Rm<<n
Rd[15:0] =imm16, Rd[31:16] =0, LSL, LSLS Rd, Rm,#n Logical Shift Left (Same as MOV{S} Rd, Rm, LSL n) N,Z,C
MOV {W,T} Rd, #imm16 Set Rd equal to imm16 m16 range 0-65535 Rd=Rm >>Rs
MVN, MVNS Rd, <Op2> Set Rd equal to -Op2 Rd = OxFFFFFFFF EOR Operand2 NZC LSR, LSRS Rd, Rm,Rs Logical Shift Right { d (Same as MOV{S} Rd, Rm, LSR Rs) N.Z.C
Rd=Rm>>n
LSR, LSRS Rd, Rm,#n Logical Shift Right d (Same as MOV{S} Rd, Rm, LSR n) N,Z,C
Rd =Rm>>Rs
ASR, ASRS Rd, Rm,Rs Arithmetic Shift Right (signed) (Same as MOV{S} Rd, Rm, ASR Rs) N,Z,C
Rd=Rm>>n
ASR, ASRS Rd, Rm,#n Arithmetic Shift Right (signed) (Same as MOV{S} Rd, Rm, ASR n) N,Z,C
Rd=Rm >>Rs
ROR, RORS Rd, Rm,Rs Rotate Right (Same as MOV{S} Rd, Rm, ROR Rs) N,Z,C
Rd =Rm >>#n
ROR, RORS Rd, Rm,#n Rotate Right (Same as MOV{S} Rd, Rm, ROR n) N,Z,C
Rd = RRX(Rm)
RRX, RRXS Rd, Rm Rotate Right with Extend (only 1 bit) (Same as MOV{S} Rd, Rm, RRX) N,Z,C
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